Li nux Systens calls to support AlIO
Fromlinux-2.6.0-test3

/|l Create aio _context that can receive up to nr_events.
/'l Returns a new ctx_id through *ctxp
/[l Can’t submit requests if not enough room
/1 for conpletion
asm i nkage | ong sys i o_setup(
unsi gned nr_events,
ai o_context t *ctxp);

/[l Submt a list/array of requests
/1 Current support for READ WRI TE/ FSYNC
/1 1 0CB_CVD NOOP may not work
asm i nkage |l ong sys i o _submt(

ai o_context t ctx id,

| ong nr, struct iocb **iocbpp);



struct iocb {
/* these are internal to the kernel/libc. */
[* data to be returned in event’s data */
__u64 ai o_dat a;
/* the kernel sets aio_key to the req # */
~u32 PADDED( ai o_key, ai o _reservedl);

/* common fields */
__ulé ai o_|lio_opcode;
~s16 ai o_reqgpri o;

. u32 aio_fil des;
__u6e4 ai o_buf;

__u64 ai o_nbyt es;
__sb64 ai o_of fset;

/* extra paraneters */

/* TODO wuse this for a (struct sigevent *) */
_u64 al 0_reserved?;

__u64 ai 0_reserved3;

}; I* 64 bytes */



/[l Try to get up to nr but at least mn_nr
/1 from conpl eti on queue specified by ctx id
/1 Array of events should be |Iong enough to hold
/[l nr events
/[l 1f don't get at least mn_nr and tinmeout !'= NULL
/[l wait until we get at least mn_nr or until ti meout
asm i nkage | ong sys i o _getevents(
ai o_context t ctx id,
| ong m n_nr,
| ong nr,
struct io0_event *events,
struct tinespec *tineout);

struct io_event {
__u64 data; /* the data field fromthe iocb */
__u64 obj; [* what iocb this event came from*/
__S64 res; [* result code for this event */
__s64 res2; /[* secondary result */



asm i nkage | ong sys_io_destroy(
ai o_context t ctx);

asm i nkage |1 ong sys_io_cancel (
alo_context t ctx_ id,
struct iocb *ioch,
struct io_event *result);



int rc;

ai o_context t ctx id;

struct iocb ny_iocbs[ MAX | OCBS];
struct iocb *ny_iocb _ptrs[ MAX | OCBS];
struct iocb *ip;

char ny_buf s[ MAX | OCBS] [ MAX_BUF_SI ZE] ;
struct io_event ny_events[ MAX | OCBS];

sys i o0_setup( MAX _EVENTS, &ctx_id);
for (i=0; i<MAX_|COCBS; i++) {

my iocb ptrs[i] = &y iocbs[i];
}



Ip = ny_iocb ptrs[O0];

| p->li0_opcode = | OCB_CMD PREAD,

| p->aio _filedes = fdl;

| p->ai o_buf = &ny bufs[0][0];

| p->ai 0_nbytes = bytes;

| p->ai o_offset = 0;

[l identifier used with conpl etion event
| p->aio_data = ny_iocb ptrs[0];

Ip = ny_iocb ptrs[1];

I p->lio_opcode = | OCB_CVD PWRI TE;

I p->aio _filedes = fd2;

| p->ai o_buf = &ny bufs[1][0];

| p->ai 0_nbytes = bytes;

| p->ai o_offset = O;

/1l identifier used with conpl etion event
| p->aio_data = ny_iocb ptrs[1];



sys io submt(ctx id, 2, ny_iocb ptrs);

/* wait forever for 2 conpletion events */
n = sys io_getevents(ctx id, 2, 2, ny_events, 0);

for (1=0; i<n; i++) {
/] get the pointer to iocb used for request
// this may be the sane as ny_events[i]. obj
Ip = ny_events[i].data;
/[l return value fromthe call
rc = ny_events[i].res;



